Stat-319

Quiz 4                                                                                                                        Sec: 03

Name:                                                                         ID#:                                          S.No.
A machine produces metal rods used in an automobile suspension system. A random sample of 10 rods is selected, and the diameter is measured. The resulting data (in millimeters) are as follows:
8.24      8.25      8.20      8.23      8.24

8.21      8.26      8.19      8.28      8.23
a. Find the mean and median, based on these values is the data skewed positively or negatively? Reason?

b. Calculate the sum of the squared deviations and use this value to calculate the standard deviation.

c. Find the co-efficient of variation and interpret your result.

d. Check the 2nd condition of the Empirical Rule for the above data and comment?

e. Find the lower and upper quartiles and use these values to construct a box plot.

f. Find a 98% two-sided confidence interval on mean rod diameter.
g.  Is there evidence that the true mean diameter is not 8.24 mm? Use 0.02 level of significance.
h. What is the P-value for this test?
i. What will be the value of the test Statistic to check if the mean diameter is 8.24 mm. Assuming the over all standard deviation 0.02 mm.

j. What should be the sample size in order to be 98 % confident that the true mean does not differ from the sample mean by more than 0.12 mm. 
